V9 K13 S i iE S A i R

T & T B BANT B R
HIH T AT 7 )V REREE t=50mm | m2 46.55
EEEFTR | IR ARERE HIiE m2 43.60
BlLarr7)—k t=0~44mm m3 0.96
E‘;"? "‘;/\7 ] =
KT IXLIT%(EP Lf%) =E::) Efﬁ W=15¢cm m 5
X R (SMARR) B E# W=15cm m
G 7Kk T raifs RIS K m2 46.55
EK AT ATV T Ao ¢ 18 m 14.78
REREEK
i H A m 11.8
a7 —REIFL B 1% AT 4
(e T T e e e e 1 SR (A E LD — Kb TE) | m 11.8
Wi i 18 (AR LS g =2 402 m2 0.01
BT E VA V) ’ m3 0.00028
Ob e TARF VR EA m 2
TEBLAHE [0 O huAdfE A ESMETARFBIERIE | m 0.2{ OV UIE0.5mm EL L
% HE Y A2fEEmIEH m2 23.63




1. TR

(1) #3E (7 A7 7/ Mk SO TR t=50mm)

i (m) FE&(m) M (m2)
i) 5.9 7.89 46.55
) 46.55 ni
(2) InEhEEmE
i (m) FE&(m) M (m2)
LEa| 5.9 7.39 43.60
) 43.60 nt
(3)HL=7V—Fh
i (m) FE&(m) JEE(m) [ AR (m2)
LEa| 5.9 7.39 0.022 43.60
(4) Eli%E DI Wr
(0.250+1.22+1.17+0.25-0.02%2)%2 = 5.70 m
2. [XEj#R
IR (FO)
7.39 /10=1, 1Xb5H= 5 m
X IR (MR
m
3. KRB
(1) Bk I fs
1) B O IR AR 7K) T AR (m2)
46.55 ni (CADFHINIZLY)
(2) ok AT
1) BUEERA TV 7 Ay 2 ¢ 18)
FE&(m) [EIES HEtm)
7.39 2 14.78
) 14.78
2) BLUEN(Z 7 vy NEKT — 7[R LL 1)
F&(m) [EIE S HEtm)
5.9 1 5.9
6.7 1 6.7
Y 12.6
(3) 53¢ B #t
1) A H HiEp
L = 5.9 X 2
(4) =27V —RHII4L 4 T

X

A AE(m3)
0.96

11.80
11.80



(5) HRER T fif e 22
1) K& H HiE
L = 5.9 X 2 = 11.80
T 11.80



4. EESTAHE
(1) Wr & 18 (BRI £V 2 L)
i (m) 7 & (m) & AT ffifE(m2) JEE(m) A FE(m3)

1 0.15 0.05 1 0.008 0.03 0.00024
2 0.05 0.03 1 0.002 0.02 0.00004
pX 0.010 0.00028

(2) OO IAHE (=R F AR TEN)
kam) TPk JEF(m)

a 2 1 2.0
) 2.0
(3) FAMrHfifE
PRI R SR AT (AT N T SR K & =)
£ &(m) e (m) gy [fifE(m2)
M R 3.80 0.32 19 23.10
3.80 0.06 2 0.46

pX 23.56



5. T LAHEA2ER)
(1) OO IAE (AT e TR S 48t A e 18)
F&(m) TR FEF(m)

0.20 1 0.20

) 0.20 m

T 2.00 m
ait 2.20 m

FEAMS

OOEIRUIEZ0. 5om, JEAESA20.5mE 15 JFEAREL 20 v Z2#20%
W= 2.2 X 0.0006 X 0.5 X 1.20
X 1000 X 1.20 = 0.79 kg

> — LRF

= )UIE 0. 05m, JEX%0.002mE 35, —/LHfEEEEL 70 = ZF20%
W=2.2 X 0.05 X 0.002 X 1.70
X 1000 X 1.20 = 0.45 kg

IVEREY N2
TEA g B o [#1hE 289 200mmi 2 L& ET & 375
N=2.2 / 0.15 = 15



6. S EEGLE 25
& (m) F&(m) & P i 8 (m2)
A2FB B HEH 3.15 7.50 1 23.63
) 23.63



V5 K19 S il iE SRR iE R

T & | BAANT B s
HIH T AT 7 )LV REREE t=50mm | m2 48.35
EREEFTRE | IRAHSE 2= HiE m2 45.08
BlLayr7)—kr t=0~46mm m3 1.04
E‘;"? "‘;/\7 i) =
KT lzl_lf%(':lj Lf?) Bt Efﬁ W=15cm m
XE#E (OMAKR) |Bf E# W=15cm m
Gk T raifs RIS K m2 48.35
EK AT ATV T Ao ¢ 18 m 14.78
RIREE K
% H A m 13.10
a7 —RHEITFL Huzz 1% it 4
%@% (S e (AR o T m 13.10
BT (WS T (I 402 m2 0.056
& JLAE L) i m3 0.0012
e : 2 0.028
;;ﬂﬁi*ﬁ W 1 IRV - ——
= m .
&5 HAE 5 A2fEEmE R m2 26.05




1. EZEFTRE
(1) 3B (7 A7 7V Nii%E & T £ =50mm)
& (m) F&(m) i f&(m2)
il 6.10 7.93 48.35
) 48.35

(2) InEhEmE GRS EICFEL)
& (m) £&(m) [AIAE (m2)
il 6.10 7.39 45.08
) 45.08 nf

B BL=arz)—k
M (m) £-&(m) JE&(m) [ fE(m2) {KF&E(m3)
&1 6.10 7.39 0.023 45.08 1.04

(4) S O
(0.268+1.12+1.27+0.268-0.02%2)%2 = 5.77 m

2. [ [ R
DX R (HCVRR)

DX (SMAlR

3. IRhRBH7K
(1) Bk Traifs
1) H3E R IR G 7K) [AiFE(m2)
48.35 ni (CADFHANZXY)
(2)EHRNRAT
1) BEEHATV T Ay o ¢ 18)
F&(m) B A Etm)
7.39 2 14.78
) 14.78
2) HLE (X 7 vy NEK T — T A% DL 1)
F&(m) B A itm)

6.55 1 6.55
7.35 1 7.35
)y 13.90
(3)#%%E H i
1) B H R
L = 6.548 X 2 = 13.10

X 13.10



(4) =27 —FHIFL 4 & AT

(5) FRFS TR feh s 425
1) K& H HiE
L = 6.548 X 2 = 13.10
) 13.10



4. EESTAHE

(1) Wr i (E1E (I HE T /L 2 L)

& (m)

0.20
0.10
0.20
0.05
0.25
0.10

S O A~ W N

S (m)

0.05
0.05
0.05
0.05
0.03
0.03

(2) OO IAFE (=R U BIREA)

£&(m)

71 Tk

fi# T 2%

—_— = DN =

JE £ (m)

[fifE(m2)

0.010
0.020
0.010
0.005
0.008
0.003

0.056

JE&(m)

0.02
0.02
0.02
0.02
0.02
0.02

A FE(m3)

0.0002
0.0004
0.0002
0.0001
0.0002
0.0001

0.0012



5. T LAfifEA2KEH)
(1) Wri &1 (I IUHE £ L 2 1)
& (m) S (m) fEprE mfEm2) ES(m) AR FEm3)
0.40 0.07 1 0.028 0.05 0.0014

pX 0.028 0.0014



6. S EEGLE 25
& (m) F&(m) & P i 8 (m2)
A2FB B HEH 3.15 8.27 1 26.05
) 26.05



VO R 21 i IE A i R

T fl el <R o S
HiE T AT 7L t=50mm | m2 39.59
LSRR (B S e HOHE m2 43.60
YjLa 7 —k t=0~44mm m3 0.96
KT DX IE#R (O ER) B BHEE W=15cm m
XE#R (OMAURR)  |Bf EHE W=15cm m
[ 7Kk T mifs HRT R IERG K m2 39.59
KA ATV T Ay = 18 m 25.62
PRIRBIZK | Rl By B bt Ty — LSS L b=5m | m 25.62
sl H LR, o —AvvaRfERUEl m 25.62
27U —RHIFL HPE & P 4
B A I 1.8
7 T 7 IR m2 0.531
éﬁﬁiﬁ k{f;ﬁ%)@ o fira02 m3 0.0283
[O3O) eyl TARFBIAEEN m 0.70
FETA | ST 2L m2 LU0 kit B A2 )
& m3 0.2730
OOl TARFBAEIEA m 0.23
s B R A2iEERER m2 23.63




1. EZEFTRE
(1) EhZE v
(0.32+0.82+1.67+0.32-0.02%2)%2 6.18
) 6.18 m

(1) #3E (7 A7 7V N B TR t=50mm)
i (m) kam)  ifEm2)
fam 5.90 6.71 39.59
)y 39.59

(2) IREEEAR R (P TRR SRUC[RI D)
i (m) kam)  ifEm2)
fam 5.90 7.39 43.60
)y 43.60

(3)HLarrz)—k
& (m) £&(m) JEE(m) i fE(m2) AR FE(m3)
8 1hi 5.90 7.39 0.022 43.60 0.96

2. X R
X R (HCVRR)

PR (SMAR)



3. RARBGZK

(1) Bk T fi
1) BIE A CE IR R 7K) i fE(m2)
39.59 nf (CADEHANZLY)
(2) AR NAT

1) HEHA T T Ay = ¢ 18)
£&(m) EBIES Ait(m)

6.91 2 13.82
5.90 2 11.80
Y 25.62
(3) H Hiks
1) A B #kt (s — /L SSEIZE S LA | b=5mm)
L =(  6.91+ 5.9 )X 2
2) il H HUALERAS (S LR — Ay a R P 1)
L =(  6.91+ 5.9 )X 2

(4) =7 —FHIFL 4 &

25.62

25.62

51.24



4. i E R RS [EPNAREE S
L. ffifE2ERE ( CR + SS400 )

A1 (M) Tu7a A FCDSM—20/ (FEEHIA) L

5.900 m

A2 (M) Tu7a A FCDSM—20 (FEEHIA) L

5.900 m

2.3 (U ark)

A1 (M) 20 mm X 10 mm L = 600 mm

V =0.020 X 0.010 X 0.600 X 1000 = 0.120
A2 (M) 20 mm X 10 mm L = 600 mm

V =0.020 X 0.010 X 0.600 X 1000 = 0.120

2.%¥T= 7 ) —1
AT(M) V =5.900 X 0.320 X (0.120 + 0.120 ) / 2
+5.900 X 0.320 X (0.120 +0.120 ) / 2
= 0.453 m"3
A2(M) V =5.900 X 0.320 X (0.120 + 0.120 ) / 2
+5.900 X 0.320 X (0.120 +0.120 ) / 2

=0.453 m"3

3. a7 V— T h—  (SS400 A4S )
AT (M) DI6H X 104 A&

A2 (M) DI6H X 104 K



5. B TAfE
(1) Wr & 18 (BRI £V 2 L)
i (m) 7 & (m) & AT ffEm2)  JES(m)  AFE[m3)

1 0.20 0.20 1 0.040 0.05 0.0020
2 0.35 0.25 1 0.088 0.10 0.0088
3 0.60 0.15 1 0.090 0.05 0.0045
4 0.50 0.20 1 0.100 0.05 0.0050
5 0.35 0.15 1 0.053 0.05 0.0027
6 0.35 0.10 1 0.035 0.05 0.0018
7 0.30 0.10 1 0.030 0.05 0.0015
8 0.15 0.03 1 0.005 0.02 0.0001
9 0.20 0.05 1 0.010 0.02 0.0002
10 0.30 0.10 1 0.030 0.02 0.0006
11 0.10 0.05 1 0.005 0.02 0.0001
12 0.10 0.05 1 0.005 0.02 0.0001
13 0.30 0.03 1 0.009 0.02 0.0002
14 0.30 0.03 1 0.009 0.02 0.0002
15 0.15 0.05 1 0.008 0.02 0.0002
16 0.30 0.03 1 0.009 0.02 0.0002
17 0.10 0.05 1 0.005 0.02 0.0001

pX 0.531 0.0283

(2) OO OIAFE (=R U BIIREA)
kam) TPk JEF(m)
a 0.70 1 0.70

pX 0.70

(3) FAMrHlifE
PR RE T R B M B AT (AR T NI LR 5 5 12 A)
F&(m) g (m) g i fE(m2)
FAHT T 3.80 0.32 18 21.89

pX 21.89



6. T IiE
(1) Wr & 18 (BRI £V 2 L)
i (m) 7 & (m) Gt mfEm2) JES(m) R FE(m3)

ALHITEE 1 0.80 0.30 1 0.240 0.25 0.0600
2 0.70 0.30 1 0.210 0.10 0.0210

A2R(TEE 3 3.20 0.30 1 0.960 0.20 0.1920
pX 1.410 0.2730

(2) OO OIAFE (=R U BIREA)
kam) TPk JEF(m)

0.23 1 0.23

) 0.23 m

ET 0.70 m
ait 0.93 m

FEAS

OOEIFUIE 0. 5um, JEAES A20.5mE 15 JFEAREL 20 v 2#20%
W= 0.93 X 0.0006 X 0.5 X 1.20
X 1000 X 1.20 = 0.33 kg

> — LRF

T—)UIE%0. 06m, JEX%0.002mE 3%, —/LHfEEEL 70 = ZF20%
W=0.93 X 0.05 X 0.002 X 1.70
X 1000 X 1.20 = 0.19 kg

REEAZE
FEALE B O WG 2 £200mmlZ 1fE AT & 45
N=0.9 / 0.15 = 6 &



7. G )
& (m) F&(m) & P i 8 (m2)
A2FB B HEH 3.15 7.50 1 23.63
) 23.63



